

LISTA 7 - Problema 8.1

$$\textcircled{1} \quad H = \frac{p^2}{2} + \frac{w^2 q^2}{2} + \epsilon \left( a q + \frac{b}{2} q^2 \right)$$

$$(a) \quad H = \frac{p^2}{2m} + \frac{q^2}{2} (w^2 + \epsilon b) + \epsilon a q$$

$$= \frac{p^2}{2m} + \frac{\Omega^2}{2} \left( q + \frac{\epsilon a}{\Omega^2} \right)^2 - \frac{\epsilon^2 a^2}{2\Omega^2}$$

$$\begin{cases} q(t) = \left( q_0 + \frac{\epsilon a}{\Omega^2} \right) \cos \Omega t + \frac{p_0}{\Omega} \sin \Omega t - \frac{\epsilon a}{\Omega^2} \\ p(t) = p_0 \cos \Omega t - \Omega \left( q_0 + \frac{\epsilon a}{\Omega^2} \right) \sin \Omega t \end{cases}$$

$$\frac{p(t)^2}{2} + \frac{\Omega^2}{2} \left( q(t) + \frac{\epsilon a}{\Omega^2} \right)^2 - \frac{\epsilon^2 a^2}{2\Omega^2}$$

$$= \frac{p_0^2}{2} + \left( q_0 + \frac{\epsilon a}{\Omega^2} \right)^2 \frac{\Omega^2}{2} - \frac{\epsilon^2 a^2}{2\Omega^2} = E$$

(b)

$$q = \sqrt{\frac{2I}{\omega}} \sin \theta$$

$$p = \sqrt{2I\omega} \cos \theta$$

$$H = \omega I + \epsilon a \sqrt{\frac{2I}{\omega}} \sin \theta + \frac{\epsilon b I \sin^2 \theta}{\omega}$$
$$= H_0 + \epsilon H_1$$

$$H_1 = a \sqrt{\frac{2I}{\omega}} \sin \theta + \frac{\epsilon b I}{\omega} \left[ \frac{1 - \cos 2\theta}{2} \right]$$

$$= \frac{\epsilon b I}{2\omega} + a \sqrt{\frac{2I}{\omega}} \sin \theta - \frac{\epsilon b I \cos 2\theta}{2\omega}$$

$$\langle H_1 \rangle = \frac{\epsilon b I}{2\omega}$$

$$\tilde{H}_1 = H_1 - \langle H_1 \rangle = a \sqrt{\frac{2I}{\omega}} \sin \theta - \frac{\epsilon b I \cos 2\theta}{2\omega}$$

$$S_1 = -\frac{1}{\omega} \int \tilde{H}_1 d\theta$$

$$= +\frac{a}{\omega} \sqrt{\frac{2I}{\omega}} \omega \theta + \frac{\epsilon b I \sin 2\theta}{4\omega^2}$$

Transformation canonical  $(I, \theta) \rightarrow (J, \psi)$

$$S(J, \theta) = J \cdot \theta + \epsilon \frac{a}{\omega} \sqrt{\frac{2J}{\omega}} \omega \theta + \frac{\epsilon b J \sin 2\theta}{4\omega^2}$$

$$I = \frac{\partial S}{\partial \theta} = J + \epsilon \frac{\partial S_1}{\partial \theta} \approx J + \epsilon \frac{\partial S_1}{\partial \psi}$$

$$\psi = \frac{\partial S}{\partial J} = \theta + \frac{\epsilon \partial S_1}{\partial J} \Rightarrow \theta \approx \psi - \epsilon \frac{\partial S_1}{\partial J}$$

$$H(J) = H_0(J) + \epsilon \langle H_1 \rangle$$

$$H(J) = \omega J + \frac{\epsilon b J}{2\omega}$$

$$J = J_0$$

$$\varphi = \varphi_0 + \left(\omega + \frac{\epsilon b}{2\omega}\right)t \equiv \varphi_0 + \tilde{\omega}t$$

$$\begin{aligned} Q &= \sqrt{\frac{2I}{\omega}} \sin \theta = \sqrt{\frac{2}{\omega} \left( J + \epsilon \frac{\partial S_1}{\partial \varphi} \right)} \sin \left( \varphi - \epsilon \frac{\partial S_1}{\partial J} \right) \\ &= \sqrt{\frac{2J}{\omega}} \sin \varphi \left[ 1 + \frac{\epsilon}{2J} \frac{\partial S_1}{\partial \varphi} \right] \left[ 1 - \epsilon \frac{\partial S_1}{\partial J} \cot \varphi \right] \\ &\approx \sqrt{\frac{2J}{\omega}} \sin \varphi \left\{ 1 + \epsilon \left[ \frac{1}{2J} \frac{\partial S_1}{\partial \varphi} - \frac{\partial S_1}{\partial J} \cot \varphi \right] \right\} \end{aligned}$$

$$\begin{aligned} P &= \sqrt{2I\omega} \cos \theta = \sqrt{2\omega \left( J + \epsilon \frac{\partial S_1}{\partial \varphi} \right)} \cos \left( \varphi - \epsilon \frac{\partial S_1}{\partial J} \right) \\ &= \sqrt{2\omega J} \cos \varphi \left[ 1 + \frac{\epsilon}{2J} \frac{\partial S_1}{\partial \varphi} \right] \left[ 1 + \epsilon \frac{\partial S_1}{\partial J} \tan \varphi \right] \\ &\approx \sqrt{2\omega J} \cos \varphi \left\{ 1 + \epsilon \left[ \frac{1}{2J} \frac{\partial S_1}{\partial \varphi} + \frac{\partial S_1}{\partial J} \tan \varphi \right] \right\} \end{aligned}$$

$$\frac{\partial S_1}{\partial \varphi} = \frac{1}{w} \left[ -a \sqrt{\frac{2J}{w}} \sin \varphi + \frac{bJ}{2w} \cos 2\varphi \right]$$

$$\frac{\partial S_1}{\partial J} = \frac{1}{w} \left[ \frac{a}{\sqrt{2Jw}} \cos \varphi + \frac{b}{4w} \sin 2\varphi \right]$$

$$\frac{1}{2J} \frac{\partial S_1}{\partial \varphi} - \frac{\partial S_1}{\partial J} \cot \varphi =$$

$$= -\frac{a}{2wJ} \sqrt{\frac{2J}{w}} \sin \varphi + \frac{b}{4w^2} \cos 2\varphi - \frac{a}{w\sqrt{2Jw}} \frac{\cos^2 \varphi}{\sin \varphi} - \frac{b}{4w^2} \frac{\cos \varphi}{\sin \varphi} 2 \sin \varphi \cos \varphi$$

$$= -\frac{a}{w\sqrt{2Jw}} \left[ \frac{\sin^2 \varphi}{\sin \varphi} + \frac{\cos^2 \varphi}{\sin \varphi} \right] + \frac{b}{4w^2} \left[ \cos^2 \varphi - \sin^2 \varphi - 2 \cos^2 \varphi \right]$$

$$= -\frac{a}{w\sqrt{2Jw}} \frac{1}{\sin \varphi} - \frac{b}{4w^2}$$

$$q(t) = \sqrt{\frac{2J}{w}} \sin \varphi \left\{ 1 - \frac{\epsilon}{w\sqrt{2Jw}} \frac{a}{\sin \varphi} - \frac{b\epsilon}{4w^2} \right\}$$

$$q(t) = \sqrt{\frac{2J}{w}} \left[ 1 - \frac{b\epsilon}{4w^2} \right] \sin \varphi - \frac{\epsilon a}{w^2}$$

$$\frac{1}{2I} \frac{\partial S_1}{\partial \varphi} + \frac{\partial S_1}{\partial I} \log \varphi =$$

$$-\frac{a}{2I\omega} \sqrt{\frac{2I}{m}} \sin \varphi + \frac{b}{4\omega^2} \cos 2\varphi + \frac{a}{\omega \sqrt{2I\omega}} \sin \varphi + \frac{b}{4\omega^2} \sin 2\varphi \log \varphi =$$

$$\frac{b}{4\omega^2} \left[ \cos^2 \varphi - \sin^2 \varphi + 2 \sin \varphi \cos \varphi \frac{\sin \varphi}{\omega \varphi} \right] = \frac{b}{4\omega^2}$$

$$p = \sqrt{2I\omega} \left[ 1 + \frac{\epsilon b}{4\omega^2} \right] \omega \varphi$$

CONDITIONS INITIALES

$$\varphi = \varphi_0 + \tilde{\omega} t$$

$$q(t) = \sqrt{\frac{2I}{\omega}} \left( 1 - \frac{\epsilon b}{4\omega^2} \right) \sin \varphi_0 \cos \tilde{\omega} t + \sqrt{\frac{2I}{\omega}} \left( 1 - \frac{\epsilon b}{4\omega^2} \right) \omega \varphi_0 \sin \tilde{\omega} t - \frac{\epsilon a}{\omega^2}$$

$$p(t) = \sqrt{2I\omega} \left( 1 + \frac{\epsilon b}{4\omega^2} \right) \omega \varphi_0 \cos \tilde{\omega} t - \sqrt{2I\omega} \left( 1 + \frac{\epsilon b}{4\omega^2} \right) \sin \varphi_0 \sin \tilde{\omega} t$$

$$\tilde{q}_0 = \sqrt{\frac{2I}{\omega}} \left( 1 - \frac{\epsilon b}{4\omega^2} \right) \sin \varphi_0 - \frac{\epsilon a}{\omega^2} \Rightarrow \sqrt{\frac{2I}{\omega}} \left( 1 - \frac{\epsilon b}{4\omega^2} \right) \sin \varphi_0 \equiv \tilde{q}_0 + \frac{\epsilon a}{\omega^2}$$

$$\tilde{p}_0 = \sqrt{2I\omega} \left( 1 + \frac{\epsilon b}{4\omega^2} \right) \omega \varphi_0$$

$$q(t) = \left( \tilde{q}_0 + \frac{\epsilon a}{\omega^2} \right) \cos \tilde{\omega} t + \frac{1}{\omega} \frac{(1 - \epsilon b / 4\omega^2)}{(1 + \epsilon b / 4\omega^2)} \tilde{p}_0 \sin \tilde{\omega} t - \frac{\epsilon a}{\omega^2}$$

$$\frac{1}{\omega} \frac{1 - \epsilon b / 4\omega^2}{1 + \epsilon b / 4\omega^2} \approx \frac{1}{\omega (1 + \epsilon b / 4\omega^2)} = \frac{1}{\tilde{\omega}}$$

$$q(t) = \left( \tilde{q}_0 + \frac{\epsilon a}{\omega} \right) \cos \tilde{\omega} t + \frac{\tilde{p}_0}{\tilde{\omega}} \sin \tilde{\omega} t - \frac{\epsilon e}{\omega^2}$$

$$p(t) = \tilde{p}_0 \cos \tilde{\omega} t - \omega \left( \frac{1 + \epsilon b / 4\omega^2}{1 - \epsilon b / 4\omega^2} \right) \left( \tilde{q}_0 + \frac{\epsilon a}{\omega} \right) \sin \tilde{\omega} t$$

$$p(t) = \tilde{p}_0 \cos \tilde{\omega} t - \tilde{\omega} \left( \tilde{q}_0 + \frac{\epsilon a}{\omega} \right) \sin \tilde{\omega} t$$

Comparando com o círculo unitário:

$$\tilde{\omega} = \omega \sqrt{1 + \frac{\epsilon b}{\omega^2}} \approx \omega \left( 1 + \frac{\epsilon b}{2\omega^2} \right) = \omega + \frac{\epsilon b}{2\omega} = \tilde{\omega}$$